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a) This symmetrical triangle has    equal sides and is called

an isosceles triangle.

b) If a triangle has 2 equal sides, it is  .

c) AC  =  ;   ∠ A     ∠ B;   ∠ ACD  =  ∠  

d) The equal sides are called the    of the triangle.

e) AB is the    of the triangle.

f) The line of symmetry bisects the    and is

perpendicular to it.

g) AB  ⊥   ;    AD       DB

h) CD is the    of triangle ABC from its base.
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a) ∠ A  =    =  

AB  ⊥   

AD    DB

b) Any equilateral triangle is an    triangle.

c) An equilateral triangle has    lines of symmetry.

d) DC is the    of the equilateral triangle.
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°a) An equilateral triangle has angles of      and has

three    sides.

b) An isosceles triangle has at least    equal  .

c) An equilateral triangle is also an    triangle.

d) A triangle which has sides in the ratio of 3 : 4 : 5  is a

  triangle.

e) A triangle with 3 different sides is called a  

triangle.

f) There is no triangle which has a    angle.

g) The sum of the angles of any triangle is    .°
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a) A quadrilateral is called a    if its

diagonals bisect each other.

b) A quadrilateral with equal angles is called a  .

c) A quadrilateral with equal sides is called a   .

d) A regular quadrilateral is called a   .
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e) A quadrilateral is called a    if one of its

diagonals lies on a line of symmetry.

f) Every deltoid has two pairs of adjacent    sides.

g) Every rectangle is a   .

h) Every rhombus is a   .

LP 91/6ii
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70% of 80
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80% of 70

400 + (20% of 400)
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70 ×
4
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a) 45.8 kg  =    g;   718 g  =    kg;

5.1 t  =    kg

b) 3.4 litres  =    cl  =    ml;

216 cl  =    litres;     470 ml  =    litres

c) 2.9 km  =    m;   53 cm  =    m;

4280 mm  =    m

d) 233 min  =    hr;     10.4 hr  =    min;

45 sec  =    min
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a) i) 100  = ii) 10 000 =

iii) 1 000 000  =

b) i) 256  = ii) 2 56.   =

iii) 25 600  =

c) i) 0 25.   = ii) 25  =

iii) 2500  =

d) i) 1 96.   = ii) 196  =

iii) 19 6.   ≈
LP106/8
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LP108/4ii✂Make 2 copies on card, cut out  and fold to form half a cubeoid.
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